WARRKBENE SM6F 11ATHEFER WBARRKRT ¥ IER)

AT 9:00~13:00 13:00~17:00 17:00~21:00
)= E A e B TR e e B iR E A e B
= TS 7 B= [ AR Bh T%
7 T ToY Y TBE | 29 2 *
3H TS TBE | KR B 3 H
67k 67}<
—F 7 K
Tz RS 7BE |5 S0 8 &
9 T ROV TRE |aie Ed 9T
10 5 TSSO TBE |25 N5 10 H
K TS TBE | KAk BR |12 K
13 K 13 &
14 K 14 &
S 15 &
__1_/‘_/.‘_'&% _I_ZLL NS : ~ N /_\
i ETEELRHARS S v IRE e
18 A 18 B
1o K TSV 7BE | KAk BH |19 K
20 7k 20 7k
21 K 21 K
7 % T TR | IH =6 2 %
23 T Tov > TR |25 W% 23 =
24 B RS TBE RN S 24 H
26 X RO THE (KR Bfh 26 ‘X
27 7}< 27 7}<
EES 28 &
29 & ROV IHE | LB 54 29 &
30 T ToY Y TBE B 29 30 &




